

$$\left\{ \begin{array}{l} (\forall x \in [0; +\infty[); f(x) = \sqrt{x} \cdot e^{1-x} \\ (\forall x \in]-\infty; 0[); f(x) = x \ln\left(\frac{x-2}{x}\right) \end{array} \right. : \mathbb{R} \quad f \quad -I$$

2 cm (O, \vec{i}, \vec{j}) f (C_f)

$$\lim_{x \rightarrow -\infty} f(x) \quad \lim_{x \rightarrow +\infty} f(x) : \quad - (1)$$

$$. 0 \quad f \quad - (2)$$

$$0 \quad f \quad - (3)$$

$$. (\forall x \in]0; +\infty[); f'(x) = \frac{1-2x}{2\sqrt{x}} \times e^{1-x} : \quad - (4)$$

$$. (\forall x \in]-\infty; 0[); \left(f'(x) = \frac{2}{x-2} + \ln\left(\frac{x-2}{x}\right) \right) \text{ et } f''(x) = \frac{-4}{x(x-2)^2} : \quad - (5)$$

$$.]-\infty; 0[\quad f' \quad \lim_{x \rightarrow -\infty} f'(x) : \quad -$$

$$.]-\infty; 0[\quad f'(x) \quad -$$

$$. \mathbb{R} \quad f \quad]0; +\infty[\quad f'(x) \quad - (6)$$

$$. (2 \quad (C_f) \quad) \quad (O, \vec{i}, \vec{j}) \quad (C_f) \quad - (7)$$

$$. K = \int_0^1 x e^{2(1-x)} dx \quad J = \int_{-2}^{-1} x \ln\left(\frac{x-2}{x}\right) dx : \quad -II$$

$$(A) \quad J \quad - (1)$$

$$. y = -2 \quad x = -1 \quad x = -2 : \quad (C_f)$$

$$(Ox) \quad (C_f) \quad K \quad - (2)$$

$$. [0; 1]$$

:01 •

$$. (E_1): y + 3y' = 2 : \quad - (1)$$

$$. A(-1; 1) \quad (C_f) \quad (E_1) \quad f \quad - (2)$$

:02 •

$$. (E_2): y'' - 2y' + 5y = 0 : \quad - (1)$$

$$. g(0) = g'(0) = 1 : \quad (E_2) \quad g \quad - (2)$$

$$. I = \int_0^\pi e^x \cos(2x) dx : \quad - (3)$$

:03 •

$$. (O, \vec{e}_1, \vec{e}_2) \quad (P)$$

$$. \text{Im}(z_1) > 0 \quad (E): z^2 - 3\sqrt{3}z + 9 = 0 : \quad z_2 \quad z_1 \quad \mathbb{C} \quad - (1)$$

$$B(z_2) \quad A(z_1) \quad z_2 \quad z_1 \quad - (2)$$

$$. 3 \quad O \quad (\Gamma)$$

$$. B'(z_2) \quad B(z_2) \quad A'(z_1) \quad A(z_1) \quad \frac{2\pi}{3} \quad O \quad R \quad - (3)$$

$$z_2' \quad z_1' \quad R$$

$$A' \quad \frac{z_1'}{z_2} \quad B' \quad B \quad A' \quad A \quad (\Gamma) \quad - (4)$$

$$. O \quad B$$

$$. ABA' \quad - (5)$$